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For each.question from 1 to 28, four opticns dre-given. One of them is the correct answer.
Make your chisice:(1, 2, 3 eF 4) and shade your answer of the Optical Answer Sheet.
{56 marks)

1 Asnail was observed to hide itseif in its shell when fouched.

PPC LS i,

before tolching sftértouching

This shows that the snafl is a living thing because it can _

(1) grow

2) breathe
(3) respond
(4} reproduce

2 Rajumade the followirig observations on:the Jife cycle of an animal:

« Thete are three stages inthe.life cycle:
« “Theyoung looks like the adult.

Which anfinal was Raju-observing?

(1) frog

@) beetle

(3) mosquito

(4) grasshopper

BP-586
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The diggram below. shows thegrowthiof a young plant with two missing stages, B and D.

A

Which of the following shows the correct stagés for B anid D?

3

B

.lj:

)

2

@ |

0009/02(A)
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4 Thediagram béelow-shows a yoling plant;

. leaf

‘The leaf'helps the plant s _

{1y makefood

{2)  grow upiight.

{3) -absorb watsr

) takedin mineral salts.

5  Which.of the following objects is hiot made of waterproof material2

(&) @

(8)] (4)

migtal fork

0009/02(A)
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Which of the following shows the correct order when faod moves through .some:parts of
the himan digestive system?

@ )

stomach 4 large intestine > small intéstine:

large'intestineg = stomach > sn*i_ail' intestine:

(3 %

stormhach > small intestine e largé intestine:

smallintestine &  large intestine - stomach:

g

@

&

“

Matter is anything that has mass and occuples sgace.
Which of the-following i§ not matter?

{1)  wind

2)  ‘heaf

3) itk

4) table

0008/02(A)




(1)

@

3

(4).

.‘ D

 In-whigh:of the following will the two fagnetspush each other away?

000SIOZ(AY

BP-~590



Which.of the following is-a source of light?

M

)

acandle {not lit) (2}

7

the Moon (4)

10  Robir places-a metal spoon.in a cup of hot tea.

a mirror

The spoon becomes hotter-after a while,
Which of the following explains this?

(1)
2y

(3)
{4

The'tea loses heatto the:spoon.
The spoori loses heat to the f64.
The cup-gains heat from the'tea:
The tea-gains heat from the spoon.

GOD9/DZ(A)
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11 Fhe fulflming afeiSOme: deseriptions-of fiving things W, X, ¥ and Z.
e+ Wisnota fungns
o X produees thirough- spoigsiand.can. be.eaten.
» Yis too siidll to.be seen withthe nakedeye.
« Zcannotmake food and is.used in baking bread.

which of the following could W, X, ¥ and Zbe?

o yeast BB bread moufd I mushioom | bactera
@ | bacteﬁé 1 yeast T Tmess | B‘reaa'mo-u;d

@1 mushroom | b'@'dt’éﬁa‘ f yeast [ moss

12 Stidyithe chart below,

Yes

—»insect:

~ Yes

#mamnial

‘Bird

:“Whlch of thafollowmg shows-the characteristics: represented by Acand B2

o | Charactsristics ‘ B
A B
esithave wings? | Does it have.a beak?

[@ Doss ithave siclegs? | Doesithavehai? |

143 | e&at'havefeaﬂ')ers? 0 Doiasd!ay eggs?
r(4; _Does |t have a hard body bbvenng'? “Daes it hiave feathers?
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14

Stiidy the:chart below carefully.

"~ Animal

¥

tDoes it ﬁavé‘

Yes

a3-stage
life: cycle?

1 No

Y

Does it lay

| Yes

4 .

young

eggs on

Tand?

No
v

u

Y

Does its

moult?

"~ Yas

Which of the following represents S, T, U and V correctly?

-

—

0

v

mosquito

cockroach

chicken -

butterfly.

_'{-'2)

cockioach

frog

mealworm beetle

grasshopper

frog

. mealworm beeétle

butterfly.

@)

[ (4)

grasshopper

" chicken

mosquits

mealwerm beétle |

?a'-'arromf( — ) in the diagram show the direction of movement of a' sibstance in
plants.

What is this-substance?

{1)
2y
(3)
@

roots —» stem ~—— leaves

alr
soit
food
waler:

0005/02(A)
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Study the classification chart below carefully;

Human Systeis |

.

System\' P

'System Z

T

§

- Transports digested |
| oxygen fo all partsof |

food,; water.and:

" thie body

- Gives the body its:

shiape:arid protects.
{be organs inside

Exchanges gases-

betwéen our body.

andour
surroundings

Which:of the-following correctly matches human systems:X, Y'and 27

(2) | thulatory

skeletal

respiratory.

(3) | respiratory

muscular

circdlatory

muscular

. digestie

@ [ ciroulatory

B008/02{A)
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A; B,.C, Diand E aré organs in the digestive systerh,
The bar graph below shows the emount of digested and undigested food leaving each
organ afterameal. ' ' T

Amount: T
of food
leaving:

each N O
orgen |~ NY DN

l ] . : I l-; Organs in the

A 8 c D E digestive system-

[ Key:
NN Digested food
l:] Undigested food

Which of the following Is correct?

" Mouth | Gullet Small Intestine | Large Intesting
TR 1 —c £

3 B |
@ | B

c D
D B o

|»|ml>|o

0008/02(A)




17 Thetable below shiovs the properties of materials, P,-@; Riand S. A tick () indicates that

12

thetiaterial hias the properiy

| Materials

o a]!awsilght
| | waterproof

to pass

condiictor
-of hiéat:

flexible

through: |

S

IFAERE-] BT

BP-~596

Which material, P,.Q, R or S, is e best material fo-make a hat used for providing ‘shade to
thie Wearel’s head on a hot, sunny day? "

o
2
(3
“

@ @mp
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Rod W was attached to-4 retprt sfand A 500 g weight was attached to one ehd of the rod as
shown below. The distance that the rod bent, D, was recorded:

W

retort
stand

The experiment was repeated with rods X, Y and Z, The rods are made of different faterials.
The resuits are shown in the graph below.

o4l

W XY

O r'y
{em).

Arrange the materials from the least flexible to the most flexible:

_ flexibiiity _
feast : ————_  most

() X Yy Vi LW
2 F3 W z Y
@] w z Y X
4 z Y X W

0008/02(A)
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19 Which of the following properties:s comrect for both-ai-and & pencil?

f1)  They:icanbeseen.

2)  Theytake up:space’

(3  Theyhavefiked shapes.
(4  Theyhave fixed volumes.

20 In theisBtup below, A, B,C and D are four ings'which passed through:a-smooth plastic rod.

plasticrod . [

Based oily on the diagiam: above, which-of the following is correct?

@y  Disamagnet.

2}  Cisastronger magnetthan A,

(3)  Alsmadef anon-magneticmaterial.

(4)  Cisamagnet which is repelling'B but attracting D.

0009H02(A);
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Farhana prepared three different magnets, P..Q-and R, as:shown below. P, Q and R are made
of the same matenrial, .

12 an O err .
MagnetP Magriet O Magnet R

She-held magnet P’ at 5 cm above a tray of paper clips:and cotinted: the number of papér ¢lips
it attracted. She then répeated the experiment.with magnets Q and R

Magnet P

5oy

~ Pew) L o ‘d‘t ~ . paper ¢l
I " W e ¢ S
." . h_&é!_-}*

Which of the following is a possible hypothesis tested in this experiment?

(1) The magnet will attract more paper dlips when itis placed nearer to the fray.
(2). Thermaterial the'magnet is made of affects the number of paper clips it atiracts.
(3}  The poles of the magnet wilf attractmore paper clips than the centre of the magnet.

(4)  The length of the magnet will not affect thé niimbér of paper clips attracted to the

magnet.

0009/02(A)
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22 Siti dropped:tive: objenté Aand B, info simllar measuring eylinders that were each’ filled withy

200 mi of water: The:water levels wereras shown incihe di

fiagrams:with the.objects in'the water.

500 m1 -

- Object

MM

Based on the experiment; what-could:Siti conclude about objects Aand B?

@
(@)

@)

A  ObjectAis lighter than object B.

g Objects Aand B can be-Compressed;

C Objects A and B have defipite volurfies.

b ObjsctAtakes upless space than object B.
A-and B only

Aand D only

A;-B and:Dronly

G009k 2 (A) .

BP-600
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23 The diagrams below show objects i andL.

5cm

‘ ~ L

The two objects were arranged in a set:up: stich that the shadow below was' seen on the
screen,

Which one of the following correctly shows where K arid L were placed between.the lit forch
and:thie screen? ol

(1Y i

lit torch, - Sereen.

2y ]

lit-torch L screen

(3). _
it torch L~ screen

s [

_iit:fgrch . goreen

k

xF—==

@)

X

0008/02(A)
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24 Four squars shoets of diffsrent materials; A, B, Crand D, were placed in & straightline.ja front

25

)

of 4 Gandle fn-a dark foom as shown:below.

X biright, round paich of lighit Was 66 o sheet C only. Based on the e¥pedent dbove,
‘whiich of the following statement{s):iéfare-definitely correct? ' '

W ShaetB allows most lioht o pass through.
X ‘Shest'D allows somé light 1o pass fhl‘OUQh
Y  ‘SheetC does not allow light 16 pass through..
Z  Sheels A.and B alfow most lighto pass through.
) Wonly
(23 Zonly
(3) Wand Yonly
(4) Xand Yonly

Agiffwalked fromr point E to H onthe street-at hiight, The-street amp wa turned on.

L

Afwhich of the positions, E, ¥, G or H, will the shadow of the girl be the shorest?

2
)

T @ THom

0008/02(A)
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26 John ptaced some ice.cubes into a beakerof water at:50°C as showr below,

27

&
3

_—\vater at 50°C

What wili happen to the water level-and the temperature of the water after 5 minutes?

Waorlovel

Temperature of water:

(1)

_increases

decreases

@

increases

- Increases

®

decreases

 stays the same

@

stays the.sams

~ decreases _

Mary prepared the set-tp as shown below,

She the

fiask P

- water ‘

basm,-A—_“—“_t.'

finl,<,_:'d,r,o_ps

flask QO

_, wafter

Ve
e S

basin B

N poured the same amatnt of water at different temperatures into basins. A and B.

The set-up was left in.a-room:with:a temperature of 30°C,
After a few minutes; Mary observed-that the ink drop moved towards flask P.

Which of the following best represents the-temperature of water in basins A and B?

Temperature of water in basin A (C)

(1)

Temperature of water in basin B (°C).

60

30

@

60

20

8

30

30

s

600

0005/02(A)
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28 Deviwanted to:find ot how well different materials; E; F, G and H, conductfieat, Sheplaced
the same amount of wayx at one-endof each tod, Eachrod is-of identical.length and thickness.
She then heated the iods as shiown below. ‘

Wax way:

N
I *

1N
IS

e
ef |

G
0

The:tifie taken for-the wax of gach-rod to melt comp]etely was recorded ifi the table below:

Rod ] L | B o Timetaken(mm)
e %
&
T

b uf 9 | m

Baged on:the results above; which.rods, E, §,:G-or H, is classified correctly‘?

I ’ "”‘Puqrqigt:pﬁndqutpr:oﬁhggtr _Best: conducidr of heat" o

0008/02(A)
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2
For questions 29 to 41, write: your answers in the: s'panegprb,viﬂ

The urmber of marks: available: 1 ShoWi Tsbrackets [ Jatthe. ‘end of each:question or
paﬂ questlen _ (44 marks)

28 Jasmme observed and grouped sonie thmgs as: shown in fhe tabfe

GioupF eir:dup G

‘tiger | towel

‘mushroom’ | store

What:aré the suitable headings:for Frand G2 2

Group F:

GroupGr. ... .

 :Score

30 ‘Whenend X of sbject B fs brought near a magnet as shown, the magnet moves away:

objectB

(a) Theshows thatobjectBisa : 1]

{b): "Wheit end Y.7$-brought neartdﬂ'iemagnet itis ... . bythe [1]
magnet.

(6) A magtiet will come to restina _ . _direction  [1]
"7 whenifreely suspetided. -

0008/IZ(E)
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31 Tick () in the box If each of the following as a definite shape and/or a definite
voluma. (21

Has definite shape | Has definite voltme

(a)lea

(b} plastic cup

{ Score

32 The diagram below shows how Stisan sees the cat,

The ____..fromttie lamp is by the cat and

and enters Susan's eye. [2):

(G0 onto the next page)

Score

2|

'0008/02(B)
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33 Gina used afi instrunient to-measure the teMperatticd of water.if-a-gléss.

NSt <.

 ColcE S KR TR (G T G P e

(a) What is fhe instrument called? 1

{b) What is the femperature of the water in the glass? [1
Oc ’

{c) State-whattemperature is.. i)

BP-608
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34  The.graph below shows thé-amount of food eaten by 4 butterfly through the

different stages of its life cycle represented by AB; BC, CD and DE,

Anount of food |
eaten (g)

o —— S | d » Timie (Days)
A B c D E

{@) Which part'of the graph; AB, BC ot DE, réprésents the larva stage? [

(b} Name the stage of the life cycle of a butterfly from point C.to D. Explain
your answer, 2]

{Go.on tothe next page)

Score

DoosimaiB)




and is watered with the:same émourifofwater:daﬁy;

gflags box wobden:box woaden box glass box:

{b) Stafeznothervariable that she should Keegp-the same to-ensure the-éxpetiment is a
" fairone. 2}

(¢} Besidés ransporing food andwater 10 ‘gli parts of & plant; state another functibn of

the ster, M

Score

0009/02(8
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36 Thi diagram:below shows the Fuman digestive system.

(a) Identify the'part /parts A, B, C and/or D whéte

digestive: juices can be found: _ , _ 1

(Go.on't6 the riext page)
0008/0%(8)

BP-611




»

“Two &iillar pieces of biscuit were placed in set-Ups X and Y &8 Showa. in the
‘diagrais below.. Equal. amounts of:digestive jliices were:then addéd to the set:
HPS:

one’ piece of

one whole
pter;e of biscuit

- r ' —

——digestive juices —i—

Serup X Setup ¥

it n_--:set-up Y wefe. broken down

(b} Shanti Hoticed that the smaller piecas of b}
| 2]

faster than' ‘the.one whole p|ece“9fblscult in set-up. X'E__ |ai

{6) Shantstedchier advised her to répeatt experifment for at least two more times,
Whi did shesask har'to do that?’ Explain‘'why. (11

| Scora

Hiobems(py

BP-612
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37 Jack prepared the set-up shown below to find out-How absorbent four materials, K,
L. Mand N are, The four'strips of materials were of the same size and colour, He
dipped theminto 2 container of water for. 10.minutes. The shaded part of the strips
shows the amount of water abisorbed by sach material.

stip:

watef

— Basin

{a) Whatisthevariable that is changed in this expetiment? 1l

(2) Based onthe results above, which material, K, L, M or N, is thie best for making

an'umbrella to be used:on a rainy day? Explain why. 2

p) :Jack's teacher suggested using red-coloured wateringtead for the experiment.
How will using red-coloured water improve the accuracy of the experiment? [1]

(Go om to the next page)

Scoie:

0069/02(E)
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38 Cafnamads a temporary magnet usiog nail P as shown below:

She tecordsd fhe number of thumbtacks altracted to the pail in‘a: iable. 55 shewn
L then repeai he ‘experiment with nails Q; R and S. All the nafls-are.
f-different materials.

“Wan | NumberoFth GiBlacks atirasted |
12
8

\olloio}

(a) Suggestand explain why there are nothumbtacks altracted fonail €, [2]

{b) ‘Name two iivaterials:that iiail R could be made of. L4l

(<) Sug‘gesﬁwa'ways.b’éﬁn'aéfmﬁlﬁEdbftd'aenablgfnail;??tt’q—at?tr;as:t morethumbtacks:.
[21

Score.
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39 Devi had twa identical contairiers; £ and G. The volume of each.empty container is
100 6m3. She filled egch container with 50-cm? of airand:placed beth containers on
a beam balance as shown in'the diagram below,

.

(a) Devi pumped ancther 200 ¢m? of air into container G and placed it back onto- the
' beam balance. What would be the total velume of air in-container-G? Explain why.

2]

(b} What would be observed of the beam balance:after 200 om?® of air was pumped into

container G Explain why. 2] .

(Goon to the next page)

' Score

’4 4

0009/02(B)
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40 Larry prepared the.$ekup as shown: below:io: find out abuﬁtf?iﬁé transparénicy. of
materials W, X, ¥ ahd:Z. Na light could enter the box - '

mateialW X Y Z

box \

lightsensorA. B G b E

He recorded the amount of light deteicted bythe five light sensors A, B, €, D &rd E,
ir the:setup-in the graph below. ' -

Amount -
of light' -
detected |

{units)

e b L F L b Light Sensor
A B € D E

The diagram below shows a car;

wind screei.

= car

{a) Which ofthe materiais, W, X, Y or Z, is the best material 1o. meke the wind
soreenofa car? Explain why. 121

0009/02(B)
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Based on the results of the experiment, Lamy concluded that material W does. not
allow light to pass through.

(b) Do you agres witfi Latry? Explain why. 2

(Goontothenextpage

Store e

0009/02(8)
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(@) Based on the results of the-expeime
effect ofheating-the difersnt materials? [‘f].

Elmer eondppted an-experment. by heating ‘three: similat rods made' of different
m: . Qand R, fortenminutes. He recorded the ghangs in the: lenglh .of eachs
fod =s they were. heaied is shiown. in the:graph below:

fit, what cou!dgElmer conclude about the

Eimer then stopped heating the.rods.and Jeft them at-the. same: lecation-for five
hours. ‘He observed thattheirlengths refuradd 1o 10 em.

{b) Give aTeason fof his ebsel‘\LaflOnabBVB m

‘Railway tracks are bulltwitt:gaps in betwéen the railsof the tracks s shiown below.
rails.

{c) What would happen 10 the. raifway track ohi a vesy hot-day if there were no
gaps? Explain your answer, (2}

End.of Paper | seore

0005/92(BY
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29

"Group F; bving things_
Group G: non-living things

303

magnet.

BT

atiracted

30c.

North-South / NG

3

© Has definite shsipe | Has definite voliime |

(a)tea

',-{"l'i):ptésticicdp .

Thght

reflected

332

Latﬁ'errnométer

335

33¢

,gimpafal"ré'is 4 measUre] measufement of the degres of hothess of an object. |
| Temperature is a measure/maasurement of how hof or cald anobjectis,

186

—aab

“Pupa stage

From point C to. D, no:armietint of food s being-eaten.

A pupgi does not eat/feed at all during the pupa'stage.

BP-~619
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:{and notothervarablesy,

38,

f-_“il;‘ypefAmounthass.af soil OR Type of’bfént OR Temperature/Hurmidy.of the

=

Fo h01d the plant upﬂght{fo gek hght}

36a.

{;A B C’

“36k | “The smaller pieces of biscuﬂs have a blgge!_-!ja
€ ' lgestive julces:sb ity
- 36e 'Ta anure.,thatthe results are reliable;

I Typeot maeial

Zferal L. Material L did notabsorb any.water | is waterproof andwill pravent walter

agsitig theolgh'the Umbirella to'wet the persdn fkeep:ttie person dry: on ¥ rainy.

37¢

382

o

i fronfsteel / nlckel! ¢obalt

Increase fhe number of batierles (connec’fed to the clrct.nrt)L
Ifigraase the numbier of turhis /- of wire atound the nail

~38a | f00Cm® '
Alrcan.be eompressed {has:no definife-volume.
39b | The beam ba‘iaqce would: filt towards contalner'Gl;the rghtasthe s rnass ‘of container 1
ases after 200-om? of air was pum ped intoit. :
403 : fde Disthe Tost. Material ¥
1 light:fo pass thropg ! ow ofthe car. needs fo
i paren sa:that the-driver in the-car.can fook-outside the taF /st the traffic
““abh | No. No ight passeathmughmatnal Xereach materal W.
#3 | Differentnaterials sxpand o diferent lengths after healing {forthe same pariod of |
time). .
i

1 Tﬁé Tods lost heauo the:3u faundlngs and 'co‘htr:acted-- o

BP-620



